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0 YRS DA HALLY] 5,000
= 1,500
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206 T 2H| 11,600 11,600 0
= 3,480
2 8,120
01 HEH| 1,600 11,600 0
0 WLSHMSDA S TSI (48H8H) 11,600
= 3,480
2 8,120
405 THAHE St 10,000 10,000 0
= 3,000
2 7,000
01 RAUSEHSH| 10,000 10,000 0
0 & Y FAALA J|I| Y 10,000
= 3,000
= 7,000
ALSI = ALELR 22 936,779 1,118,177 ~181,398
2 17,560
= 52,799
2 866,420
NEEINI=Y RIS 851,423 1,034,841 £183,418
= 35,230
2 816, 193
AMBIZAIEH 2B #AL, D X & 215,200 427,200 A212,000
201 L2y 7,900 7,300 600
02 IZ2Y| 4,900 4,900 0
0 AIZEHIS XY 4,900
03 A2 | 3,000 2,400 600
0 AFSIEHH 24012 22 HAUUE
00,0002 * 6CH 3,000
203 HRFAY| 3,000 3,000 0
03 AlMER AR =Y 3,000 3,000 0
0 ABlEH 2 Bel 2 S 3,000
207 HPIHLEI 5,000 0 5,000
02 & &Of el 5,000 0 5,000
0 ASISHES SHOIX He 5,000
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0 MOFSAIZDIF(2232) 231,008 * 7% 1,617
0 SASHSSHH(23) 231,008 * 23 462
0 RIH S5 H(3242)  270,0008 * 2% 540
0 X AHSI2ICI &I N IS (3242 )
270,000 * 2% 540
0 Z2IIIE ARSI BT
235,008 * 2% 470
0 2UHUDE(22432) 256,008 * 102 2,560
0 AIZE JHRE JIE WR(18 2Y)
72,0002 * 2% 344
05, 00Y S (3242)
270,0002 * 4% 1,080
0 HI2XAIIS S5 /I (1222)
89,0008 + 219 1,869
0 MOIEXI SRS, 2 DS HSDHE
89,0002 * 602 5,340
0 MOFSXIER XHADE (12122
89,0002 * 21% 1,869
0 242 MBITHH BA B 243
10,0008 * 50 * 23| 1,000
0 MOISSDNERALEAT B4
10,0002 * 120% 1,200
0 HESAK AZHS BAT 243
10,0002 * 200% 2,000
02%3 RTNSH BA BAK 243
30,0008 * 709 2,100
12 JlEtR A3 7,300 6,400 900
0 ALBISAFSHR ATH RIZ
50,0002 * 132 * 3HEHK 1,950
0 MOIS2D 2WWENSTUE AT
50,0008 * 259 1,250
0 MOISXIEX S BRI M=
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0 JHQl SAABIZ A Ea
600,0002! * 1% 600
0 HBSA ME 2SI ST T 2,000
307 BI2HOIE 120,000 125,500 75,500
02 PIYMBE 60,000 65,500 A5,500
0 01242 JHE AFXAAL
1,000,0008 * 13742 13,000
03DE 2F L FAEXA0 ALY
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0 HESASTE IS HA5H AL 10,000




SN ERIMER A
M NS ZAEH el
CHel ALl ZAISHHI 2RI S A (ctol: @
= H o = = (eF] 1k = OH I|_-|L|;=|_||:_ =D}
Ao H S (BIH) - MRAIY - BYS Off AF oK Ofl At ot HluWS2
0 MOts21 29 6,000
0 MSXNASAE o X 6,000
0 A2 RNASAIE BE X 5,000
04 CI2FHALE X 60,000 60,000 0
0 MOISX XS & &ItE =S 23,000
0 NHASAA Uzl (13l) 10,000
0 6.258% 61=H HZCl IS ;A 12,000
0 5 5851 J|Y 8ol U MK 5,000
0 MOtS UsZEH M= 10,000
402 212t XH=01 A 40,000 250,000 A210,000
01 QAN EEX 40,000 250,000 A 210,000
0 ZFMd&ES JIgHl HUIAS 40,000
pge 2Hxd 24,480 38.640 A 14,160
201 LBt H| 16,560 26,400 A9,840
01 AFR 22| 16,560 26,400 A9,840
0 et 15,300
0 28=+Y 1,260
202 (4 H| 7,920 12,240 AN4,320
01 2UH0iH| 7.920 12,240 A4,320
0 2LHOdHI 170,0008 = 3% * 12& 6,120
0 22yl 50,000& * 3% = 123 1,800
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Reie 9 FoIZHESKE
ARDFUEAAY (el &2
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SH-EH . C(BH) - NRAY - BES Ao il b o bRz
=xE2 X 68,600 148,600 80,000
307 BI2HOI 18,600 13,600 5,000
02 PIAAMBE 3,600 3,600 0
0 YA 2= 300,008 * 122 3,600
05 PI2tIEt3 15,000 10,000 5,000
0 =X 2R 2Y(5HL) 15,000
402 RIAR20IH 50,000 45,000 5,000
IE TS 50,000 45,000 5,000
0S8 =x32 2t
5,000,008 * 1094 50,000
MEFHARDEOS 1,005,000 803,600 201,400
401 AlZHIL 2T 1,005,000 803,600 201,400
01 Al 1,000,000 800,000 200,000
0 FoEBHA ol AbQ! (2521) 1,000,000
03 Al&=THYl 5,000 3,600 1,400
0 Al& SH 5,000
ZOIB Al S A0 AR KIS 300,000 200,000 100,000
402 QIR 201 300,000 200,000 100,000
IR 300,000 200,000 100,000
0 TEOIBAIL 300,000
FoI=ANY 160,000 80,000 20,000
= 130,000
2 30,000
402 QIZHXH 0 160,000 180,000 20,000
= 130,000
2 30,000
IESEEES 160,000 80,000 20,000
03ES N8 AINES 30,000
= 30,000
0 20 NsY SENES 50,000
= 20,000
2 30,000
0 Mol s At 30,000
= 30,000
0 MDY B3 A 50,000
= 50,000
HZ2AAH (FUMB X 176,068 125,761 50,307
2 8,504
= 37,506
= 4,252
2 125,806
Olz 2ot (042X 21 146,418 9,761 51,657
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= 8,504
= 37,506
= 4,252
= %, 156
ol 2| (BCIHO0IE) 21,307 21,136 261
= 8,504
= 4,252
= 8,641
101 Q1 24H| 21,397 21,136 261
= 8,504
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03 RIIAHA2ERE S 21,397 21,136 261
0 XtI= AL 2CIUOIEX S (DS RCILIOIE) 21,397
= 8,504
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= 8,641
ol (AS=XREY) 125,021 73,625 51,396
= 37,506
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= 37,506
= 87,515
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0 BEAIEXZ 2(2F) 125,021
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= 16,560
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= 1,440
= 3,360
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= 1,380
= 3,220
o x4y 40,0008 * 1% * 12 480
= 144
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o AZtelsg
6,3428 * 45AI2F * 2 « 122 6,850
= 2,055
= 4,795
o AU 79,5108 * 2% * 128 1,909
= 572
= 1,337
o ZeAY 132,340% * 2% » 122 3,177
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